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Logical Reasoning Questions for CLAT Exam.

CLAT Reasoning Quiz 34

Directions: Read the questions carefully and choose the right answer.
1. Select the related words from the given alternatives.

Numismatist: Coins : : Philatelist : ?

A. Notes B. Mankind C. Stamps D. Shoes
2. Find the odd letter from the given alternatives.
A. AEI B.IEO C. UlS D. UEA

3. Statements : No pencil is paper.
Some papers are not eraser.

Conclusions : |. No eraser is pencil.
[l. Some papers may be eraser.

A. Only conclusion | follows B. Only conclusion Il follows C. Either | or Il follows
D. Neither | nor Il follows

4. In a row of five persons facing north, A is to the right of B who is second to the left of C.
M ,who is second to the right of L, is an immediate neighbour of B and C.

Who is standing in the middle of the row?

A.M B.A C.B D.L

5. In a city, Circus is 7 km to the north of Grocery shop which is 14 km. west of Mall.
Multiplex is 10 km. south of Mall and a park is situated exactly between Mall and
Multiplex. Hotel is 14 km. to the east of Circus.

Find how far and in which direction is park from the hotel ?

A. 12 km, North B. 12 km, South C. 10 km, South D. 10 Km, North

6. In a family of seven persons - A is the sister of B, who is the only son of G. H is the
mother of D and is married to I. C, the only daughter of |, is the sister-in-law of G.

How B is related to D?

A. Father B. Son C. Nephew D. Mother




7. If 'MARBLE' is coded as ELBRAM then ELTTOB is the code for which word ?

A. LOTTBE B. TOTBLE C. BOTTLE D. BELOTT
8. Arrange the given words in a meaningful order and select the option indicating the
correct order.
1. Country 2. Locality 3. City 4, State 5. House Number
A.51234 B. 54231 C. 52341 D. 53421
9. Find the missing term of the given series from the given alternatives.
DE3, FG5, JK9, PQ15,?
A. WX21 B. XY23 C.YZ22 D.TU22
10. Select the related letters from the given alternatives.
ABC: XYZ:: KLM :?
A. KGOABEP B. KGPAAEP C. KGOAAEP D. KHOAAEP
Correct Answers:
1 2 3 4 5 6 7 10
C C B A B B C B
Explanations :
1. Collecting second is the hobby of the first one.
The one who collect stamps is called Philatelist.
Hence option (C) is correct.
2. All the options except option C has all the three letters as vowels.

Only option C has a consonant along with two vowels.

Hence option (C) is correct.




Checking Conclusion I: No eraser is pencil.

Observing the given statements we can say that we can't find a definite relationship between the
classes 'eraser' and 'pencil' as we do not get a definite conclusion out of O + E combination of
statements. C1 hence doesn't follow.

Checking Conclusion Il: Some papers may be eraser.

Given statement: Some papers are not eraser.

In the above statement, as it's given that some papers are not eraser. So, if some papers are not
eraser, what are the other papers? They may be eraser or they may not be eraser.

Clearly, the possibility in conclusion 2 does exist.

Option B is hence the correct answer.

From the following image it is clear that M is standing in the middle of the row.

Hence the correct answer is option (A).
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From the below image it is clear that the park is 12 km in south direction from the hotel.
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Hence option (B) is the correct answer.




6.

We can create a family tree using the given information as follows-

[ ]-Couple
{ }—+Siblings
+ —+ Male

- -+ Female

- +
[H 1]
P -
{C[D}G]
(A B
Thus B is related to D as his son.

Hence option (B) is the correct answer.

The code for 'MARBLE' is obtained by interchanging the first and sixth letter, second and fourth letter

and third and fifth letter.
Applying this logic, MARBLE will become ELBRAM.
Similarly applying the same logic we'll get 'ELTTOB' as BOTTLE.

Hence option (C) is correct.

The correct sequence is 52341
The sequence represents the way of writing an address.

First stage is "House number" is written.
Then the name of "Locality" is written.

After that "City" is written and then comes the "State" followed by "Country."

Example of an address-

B-73A Pandav nagar Jaipur Rajasthan
N2 N N N
House Number Locality City State

Hence option (C) is correct.

India

N
Country
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The missing term as per the image shown above is XY23.
Note- N.V. is the short form used for Numeric Value.

Hence option (B) is correct.

The following table shows the reverse position of letters in english alphabet series.

A|B|C|D|E|F[G[H|I]|J|K|L|M

Z|\Y[X[W|V|U[T|S|R[Q|P|O[N

Here ABC is decodes as XYZ where the reverse codes of first and third letter are interchanged.

Reverse letter of Ais Z, but is placed at third position in the given code, Similarly Reverse letter of Cis X
but is placed at first position in the given code.

As per the above table and logic the required group of letters is NOP.

Hence option (B) is correct.
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